







This company is proud to produce products with the appropriate quality and safety to meet the needs as best as possible by using the world's technical knowledge according to current and future needs and benefiting from expert and committed human resources.

The effort is to increase customer satisfaction, increase the variety and volume of product production to respond to the growing needs of customers, expand customer orientation, achieve a greater share of the domestic market, and improve the nature of the organization's values through increasing the competence, capability, and commitment of employees.















Perfect Family

Atp group started its activity in the field of production and trade in 2005 intending to produce and supply goods. And proud that has been able to hire 200 human resources by creating suitable job opportunities.

















Balance of a vanilla, crunchy and sweet cracker with a chocolate coating in various flavors, The end of the cracker is without chocolate so that it can be easily held in the hand and the chocolate does not stick to the hand. To decorate serving trays with coffee, tee; Milk or cold drinks are With Everyone, Every Time, Every Where an excellent option.











Choco

STRAWBERRY

Eat met (in 100% Strawberry taste









Oreo biscuit pieces











FEEL HAPPY AND FRESH

5 different and attractive flavors of mojito pina colada/ strawberry and berry/ sour apple mango and passion fruit are in each package. Each one has great refreshing flavors suitable for vegetarians, is gluten-free, and has no preservatives, Contains vitamin c, no artificial colors, and no caffeine.





10 Sachet in Pack 5 flavor





ICE POP LESS SUGAR.

- · Contains fruit concentrate
- · 6 grams of natural fruit sugar (fructose) per pop
- Each pop has only 28 calories
 Compared to the ice products available in the market, which contain a lot of artificial sugar, it has much fewer calories.
- . Free of any allergens such as nuts/milk and...



MIXED Fruit

10 Sachet in Pack | 5 flavor















Picola BISCUIT

Spread

Quality and creativity along with health is our motto

Picola can give you a completely different taste and a wonderful sensation. It is an extremely nutritious and useful snack that can be a daily guest in your children's food basket. The presence of protein, carbohydrates and fiber has made its high nutritional value one of the reasons to attract people's attention.





HAZELNUT

chocolate spread

Picola's hazelnut chocolate spread produced with the freshest ingredients and the highest level of quality is a wonderful combination of hazelnuts, skim milk, palm oil free, natural flavors and cocoa to provide you with an exciting and delicious chocolate hazelnut treat.

DARK

chocolate spread

Picola's dark chocolate spread is a wonderful combination of hazelnuts, skimmed milk, palm oil free, natural flavors and with less sugar and more cocoa to provide you with an exciting and delicious chocolate hazelnut treat that you can't stop eating. We strive to make sure we provide you with the best possible product



400 gr chocolate spread















			_	_		_	_	_	_	_			_		_	_	_	$\overline{}$
Barcode	Product Name	HS CODE	Shelf Life (Month)	Net wit light	Gross set igni	Unit/ Display Box	Display Bow' Conton	Unitr Corton	Corton Net wit Rigil	Conton Cross ut Agi	No. Continu' Patier	Corton Dimension E1W16 mm	Conton Watumpm*)	Pollet Size Ions	Profest Height (CRI)	No. Unitr Pollet	Poller Net wit Rgi	Pollet Gross writigi
6262227000247	Chocolofe magic milk strow/24pcs	18069000	36	30	39	24	10	240	7.2	11.5	35	585*383*253	0.477	120*100	198	8400	252	425
6262227000230	Strawberry magic milk straw/24pcs	18069000	36	30	39	24	10	240	7.2	11.5	35	585*383*253	0.477	120*100	198	8400	252	425
6262227001961	Strawberry/Banana magic milk straw/24pcs	18069000	36	30	39	24	10	240	7.2	11.5	35	585*383*253	0.477	120*100	198	8400	252	425
626227003507	Melon magic milk straw/24pcs	18069000	36	30	39	24	10	240	7.2	11.5	35	585*383*253	0.477	120*100	198	8400	252	425
626227003491	Coconut magic milk straw/24pcs	18069000	36	30	39	24	10	240	7.2	11.5	35	585*383*253	0.477	120*100	198	8400	252	425
6262227000285	Bonono magic milk straw/24pcs	18069000	36	30	39	24	10	240	7.2	11.5	35	585*383*253	0.477	120*100	198	8400	252	425
	Mixed magic milk strow /24pcs/stand	18069000	36	30	39	24	10	240	7.2	30.9	15	638*245*395	0.061	120*100	137	3600	108	187
	Mixed magic milk straw /60 pscbanana, strawberry, chocolofe,strawberry/ banane,melon,cocanut)	18049000	36	30	39	60	4	240	7.2	11.5	24	446*403*483	0.086	120*100	213	5760	173	299
	Mixed chocostick (milk cocolate, dark chocolate, area, strawberry)	19059090	12	50	64	24	3	72	3.6	5.3	63	485*335*172	0.027	120*100	178	4536	227	354
6262227001770	Milk chocolate chocostick	19059090	12	50	64	12	6	72	3.6	5.3	63	520*330*175	0.03	120*100	178	4536	227	359

Spread BISCUIT





Borcade	Product Name	HS CODE	Shelf Ufe (Month)	Ner wit Ign	Gross and igni	Child' Chipley Box	Display Box* Carton		Conton Not wit Rigi	Conton Onses set Rigi	No. Confort Pulled	Conton Dimension ETEPHE mms	Corton Valuedor)	Rober Son Son Son	Police Insight ETN	No.	Poler Nor or No	Publish Gross settingi
6262227001480	Dark chocolate chocostick	19059090	12	50	64	12	6	72	3.6	5.3	63	520*330*175	0.03	120*100	176	4536	227	359
4242227001545	Oreo biscuit chocostick	19059090	12	50	64	12	•	72	3.6	5.3	63	520*330*175	0.03	120*100	176	4536	227	359
6262227001756	Strawberry chocostick	19059090	12	50	64	12	4	72	3.6	5.3	63	52013301175	0.03	120*100	178	4536	227	359
6262227002739	Dark choco spread	19059090	12	400	450	6	4	24	9.6	11.2	70	322*245*250	0.019	120*100	145	1680	672	806
6262227002746	Hazelnut choco spread	19059090	12	400	450		4	24	9.6	11.2	70	322*245*250	0.019	120*100	145	1680	672	806
6262227002586	Biscuit spread	19059090	12	400	450	•	4	24	9.6	11.2	70	322*245*250	0.019	120*100	145	1680	672	806
4262227000735	Mired ice pag-/300ml /Sochel jour apple, pinacolada, shawbeny Askebeny mango /passion frut, majtoj	20091900	12	100		5	12	40						120*100				
6262227000575	Mixed ice pop/40ml /Sochet bour opple, pinocolode, throuberny/ blueberry mango/ passion fruit, majtoj	20091900	12	400		10	12	120	4.8			360"250"176	acus	120*100				